|
EIBENSTOCK Ersatzteilliste

Elektrowerkzeuge |

EPG 400 A

04/18 Anderungen vorbehalten!

265A1000-01

www.jcd.com.pt




065A1000 yes'siorw 01
EPG400A-18V Dated:  25.01.2022

Pos. Description Item No. pc. Pos. Description Item No. pc.

9 Carbon brush set 665A1001 1 80 Screw M6x20 80201158 1
412 Brush holder module, compl. 665A1002 1 81 Screw M5x30 80201616 6
14 Motor housing 665A1003 1 82 Gearbox seal 82000409 1
15 Bearing cap 665A1004 1 83 Retaining ring 15x1 80201322 1
16 Grooved ball bearing 6900 2RS  665A1005 1 85 Bow handle 765A1590 1
17 Bearing cover 665A1006 1 86 Spring lock washer 8 80201309 2
18 Screw M3x8 80201150 2 87 Screw M8x16 80201160 2
19 Housing, compl. 665A1007 1 88 Charger 80700200 1
20 Screw 3,5x19 665A1008 7

21 Brush holder cover 80900298 2

22 Screw 2,9x9,5 80201480 2

23 Switch slider 665A1009 1

24 Switch rod 665A1010 1

25 Snap bolt 665A1011 1

26 Compression spring 665A1012 1

30 Gearbox housing, compl. 665A1013 1

31 Screw 4,2x22 80201233 4

33 Retaining ring 10x1 80201305 1

34 Gearbox cover 765A1405 1

35 Screw 80201631 4

36 Spindle 665A1015 1

38 Compensating washer 665A1016 2

41 Spindle stop, compl. 665A1017 1

62 Rotor, compl. 665A1018 1

63 Stator, compl. 665A1019 1

65 Gearbox housing 765A1400 1

66 Grooved pin 5x12 80200584 2

67 Gearbox cover 765A1410 1

68 Spindle 765A1420 1

69 Parallel key 5x5x14 80200609 1

70 Retaining ring 35x1,5 80201334 1

71 Grooved ball bearing 6003 2RS 80410043 1

72 Retaining ring 17x1 80201323 1

73 Spindle wheel 765A1430 1

74 Needle sleeve HK1512 80420143 1

75 Needle sleeve HK0810 80420110 2

76 Intermediate shaft 765A1460 1

77 Intermediate wheel 765A1470 1

78 Needle sleeve HK1012B 80420133 1

79 Shaft 765A1490 1

065A2000 Version: 01

page 1 of 1 www.jcd.com.pt



